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MATHEMATICS
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SHORT QUESTIONS
Q.1- lefcrentlate direct and mdlrect taxes N
A_ns.' The taxes’ charged on income, Property and Profits in
the form of income tax, Property tax etc are named as -~
~ direct tax. Whereas the taxes charged on duties. motor
~ vehicle taxes, goods and services taxes,  sales tax and
- value added tax etc are called indirect taxes. -
Q.2- The marked Price of a T.V 1s Rs 18000 Calculate

o Q.3-

- Ans.

Q4 _
~ Income tax is charged on all kinds of i incomes during
the year from 1st July to 30th of June Thrs tax ismot

. Qs

2 _‘Proportron of i income and Proﬁts or value added to the_; |
- cost of some goods and services is called a tax.

- ‘sales tax @ 16%.
Solutlon - Marked Prrce = Rs 1 8000

Tax = 16% of 18000 ——I-I-b%x18000

: Sales Tax = - Rs. 2880 Ans
. Define Property tax. | | .
_ PrOperty tax is charged on the owner of land, houses
flats qr burldmgs at a standard rate of 16% on the o
.annual value of the Property. | ' o

‘erte a "'note'" on lucome tax

charged on exceeding amount
Deﬁne "tax'.

MOney that must be pa:d to the state charged as a |
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| Q..6- The Prlce of a.car is Rs. 500 000. The buyer pays

“excise duty @150%. How muc‘h‘amount has to pay -

to purchase ‘the car. o
Solutien:- Price = Rs.500, 000
a Exmse duty = 150% of Pnce

~ 35, 500,000 =7,.50,000
700

He has to Pay =Rs (5 00,000+ 7,50, 000) Rs(]Z 59 000) Ans f

SOlVED EXERCISES |
CEXERCISES

: Ql- The prlce of a blcycle is Rs. 3500 If 16% sales tax‘ -
S is charged, then calculate the amount of sales tax

. on 50 such blcycles = o -
'Solut1on~ ST o PRSI A
| Price of one bxcycle = Rs 3500 . ,

Price of a0 bICYClBS = Rs(50><3500) = Rs 1 75000
-~ SalesTax = 16% ofRs 175000 -

6
L 175000 ,R 800
100>< s.28000.

Q.2- If the pnce of an air condltloner is Rs 40 000 then

work out the amount of sales tax on it at the rate of -
: 16% ‘Also calculate the prlce of aar condltloner
o w1th sales tax | ' ' |
j':if.Soluuon - - L
R Prlce of A, C (Excluded sales tax) Rs 40 000

s Price of A.C=40000 |

Sales Tax ] 6/o of Rs. 40000 :
_ 1 6

x400-99— o

N

3
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Prtce of A C Wlth Sales tax = 40000 + 6400

. =Rs.46400 |
The prlce of two cars of 1300 cc and 1600 cc_ o

~ without excise duty are 6,00,000. and Rs. 8, 00 000
' f‘espectzvely If the excise duty on these two are

200% and 250% respectwely Fmd the prlces of

- ‘the two cars mcluswe dutles

' Solutlon -

For the 1300 CC Car
Price w1th0ut excise duty Rs 6 00 000

.&Excnse duty 200‘% of Rs.6, 00 000

—io_o,xa 00,000 = 12,00,000
T T 00

Price (lncluded excise duty) Rs.(6,00, 000+ 12,00, 000) -

| -RS 18,00, 000Ans

For the Car of i 600CC
. Prlce (W1th0ut duty) = 8 00 000

Exc13e duty‘-f—g%x 8, 00 000 = 20 00 060 '

S Prlce (Inc,luded e€xcise duty) Rs ( 8 00 000 +20, 00 000) o

04

--R828 00 000 Ans .

The annual pnce of a house and pnee of land is Rs.
-15,00,000 and Rs. 20,00, 000 respectlvely Fmd the

o property. tax on each of these two at the rate of 16%,
| Solutlon - | | '

" Property tax 16"/'
A‘r0pey @ 0]99

9

" Property tax @16% =
..rop ty ax @16% ="

Annual Prlce of house Rs. 15 0() 000
16 ‘

Annual Pr1ce of land Rs 20, 00 000

16 x2000099 Rs320000 Ans_ R

x15,00,066- =Rs2, 40,000 Ans; -
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The total taxable income ‘of two persons is .
Rs.2,50,000 and Rs. 3,10,000 respectively. Work
out the income tax for each of them @ 4.5%. o

Solutlon For the /st Person

| :';.'Q'.6-'

Income Tax = 4.5 0/ of taxable income.
: ,-—i-5- x2,50 000
100 |
| =Rs./125 ()
For the an Person . _
: Income Tax = 4.5% of taxable income.:

.-=iix3 10, 000 -
100

.
-y
A

=Rs. 13950 Ans

The total taxable income of a person is Rs.4,30,000.
» Ifhe s given rebate Rs. 3000 on the tax chargeable,
~ then work out the amount he has to pay as. an '
mcome tax @ 4. 5% o
| Solutlon- . '+
| Income Tax = 4.5% oi Income
- —45%of430000 |
-4—5—x4 30000 =Rs. 19350
R R 1/ . L
| 'Rebate given to h1m Rs 3()00 |
- Payable income tax'= Rs (1] 9350 3000) !
I - =Rs.16350 Ans.
‘Q.‘I-.'If the -total annual incdbme of a person is
 Rs.6,25,000 with exemptlon of amount of
. Rs.l 50,000 then ﬁnd the tax chargeable @ 4 5%
Solutlon - . -

Total annual Income Rs.6,25, 000
Exemptlon of amount - Rs. 1 50,000

AV
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Tax ablemcome Rs.(6,25,000 - 1 50 ()00)
=Rs.4,75,000
4 J,

R521375 Ans,

Tax @ @4

- Q.8- The total income of a person is Rs 5, 25 0090.
Whereas the exemption is Rs. 1,50,000. Work out
“the tax payable @ 4.5% along with the i income tax.
payable, if Rs. 10,000 has. already been deducted at
- source as income tax -

- Solutlon -

- Total Income - Rs. 5 25 000 |

"Exemption = Rs. 1,50,000

Tax able income = Rs.(3, 235, 000 1 50 000)
" =Rs. 3,75, 000 |

| _“Tax@45%—70';x3 75,000 “=Rs. 16875

~ Deduction =Rs.10000 IR
'-TaxPayab]e Rs{16875 10000) =Rs.6875 A'nsl_“ L

o EXERCISES 2 -
Q.- ‘,In the following the ‘gas meter reading has been

- given. Complete the gas bills with the help of the-

~ slabs given in the umt Also mclude the meter rent |
and GST. S | ”

® 30756 Hm (u) 4_‘285;{,,,3" S h :
i) 2796Hm’ (%) 1378HW'
" 5.235_Hm3' -(vi) -_4;665Hm3 R
:Solutlon— o .

U Meterreadmg 30756Hm R R e

. IHm’ 3.25MMBTU(near_ly) ‘
C Thus - s o
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Meter readm;, - 3.0756 Hm®
' '-7-'3()756><325 ,A |
= 99957 M M BT U(nearly)

Now con51de: the table. - R

Hm | MMB[U Rate - o f_,‘ | PriCe(Rs)- =
S '|Rupee MMBTU| MMBTU x Rate|
; ,Fi‘rst-o.,mmi 0.5%3.25| Rs.80.65 | 1:625%x80.65 |
o =iezss| | =13106
Next0.5Hm’ | 1.625 | Rs.8445 | 13723 |
NextL0Hm® | 325 | Rs353.73 | . 49962

I T M A W W, -.ﬁ.m T . T g

I Next0.0756 Uim®| 0.2457 | Rs.423.42 -| . 10403 |
{Total 9.995-7- ] Total = 192975
-—30756Hm 1 SUNTIRER
| Total Price of gas =] 929 75 h
) - Meter Rent = - 20.00

Total = 1949 75

GST @16%--«12 194975
S 00

. =31 1 96 _ :
Amount of Blll = 1949 75+ 31] 96 2261 71
e . =2261.71 Ans.

(t’fi) Meter readmg 4. 285 Hrh3 : .

T " We Know that ¥ Hm = 3 25 M Mm(nearly)

| Thus L

- Meter readmg -4.285 Hm

e 2 4285%325 o

o =, 92625MMBTU(nearly)
Now cons1der the table

| Nextrzoum® | 325 | Re32548 | 105781 |-
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Hm®* {MMBTU|Rate | Pnce (Rs) o
| {RupeeMMBTU| MMBTUx Rate
First0.5Hm® [0.5x3.25|  Rs.80.65 | 1.625x80.65
_ _  l=re2s| | =13L06
 NextOSHm® | 1.625 | Rs8445 | 137.23
Next.0HmM® | 325 | Rs.153.73 |  499.62
| NextZgHm® | 325 | Rs32548 |' 1057.81
ol NextZOHm® | 325 | Red2342 | 137612 |
| Next0.285Hm® {0.92625| Rs.550.44 |  509.83 .
I B Total = 371167
_ 4.285 Hm’ |
. Total Priceof gas =3711.67
‘Meter Rent = 20.00
0 Total=373L67 .
- G.S.Tax@lG% -1—-6—><3731 67

TR 100 2
o =597.07 |
| Amount of Blll~—3731 67 +597. 07 *4328 74 .

o o - =4328.74 Ans, B
(i) Meterreadmg 2796 Hm’
- IHm’ =325MMBTU(nearly)
| Thus | SN \
o Meter readmg 2. 796 Hm’ =3.25x2. 796

| | —-9087MMBTU(nearly)

Now consider the table. . _—
CHm' |MMBTU|Rate x"Pric‘e‘(Rs) :
S T Rupee/MMBTU MMBTUxRate‘

First 0.5 Hm  [0.5%3.25|  Rs.80.65, { 1.625x80.65
| R | =1.625 | =11 06 _
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Next(.5Hm’® | 1.625 | Rs.8445 | 13723
Next/O0Hm’ | 3.25 | Rs.l53.73 |  499.62
Next0.796 Hm’ | 2.587 | Rs.325.48 | . 84202
Total | e | Total = 1609.93
=2.796 Hm’ N o

Gas charges = Rs ! 609 93
Meter Rent 20 00
~ Total =1629.93
QT 16
(J..b,_.]"_ax @ 176% =700 X 1 6.29. 93
- =260.79.

Amount of Blﬂ

= Rs.1890. 72 Ans

- Meter readmg I 378 Hm’.

1629. 93+ 260.79 = Rs 1890. 72

(vi)
-~ IHn’ -325MMB1 U(near]y)
Thus A .
“Meter reading = 1378 Hm
=1.378x3.25 .
'-44785MMBTU(nearly)

Now consxder the table _

Hm® MMBTU Rate =~ | Price(Rs) |
S Rupee/MMBTU| MMBTU x Rate
~ Fifst 0.5 Hm® | 0.5x3‘,'25* Rs.80.65 | 1.625%80.65
a | =1625| | =131.06
Next0.SHm’ | 1.625 | Rs.8445 | 13723 .
Next0.378Hm’ | 1.2285 | Rs.153.73 188.86
|Total | | Total=457. Is

= 1.378 H?

Gascharges = Rs‘ 457, 15 _
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o Meter Rent—"7U 0y
Total = Rs. 477.15

: i . N N -
T -

GS fdx(wl()% —lf-x477 15 = 76 34
100,

- Total Amount of Ball~477 15*76 34 = 35_3.4), o |
o © . =55349 Ans)
o Meter readmgb =3.235 Hm’
| -+ We Know that IHm = 3. Z‘TM M B Fl (nearly)
‘io Meter reading = 5. 235 He'
, = 5.235%3.25 MMBTU
. : ' —17()1375MMB[U 4

Now Lomlder the table. . » -
- Hm’ . MMBTU Rate Price (Rs) -

, . Rupce/MMB’lU MMBTU-xRate B
- First0.5 Hm' {0.5%3.25] . Rs 80, 65 | 1.625%80.65 |

=65 | =13106 |
1 Next05Hm' | 1625 |- Rs~.84.45 13723
Next0Hm’ | 325 | Rs.I5373 | 499.62 -
 NextLOHw' | 325 | Re32548° | 1057.8]
 NextLOHMm® | 325 | Red2342 | 137602

Next OHm' | 325 | Re350.44 | 178893
B Next ’0."2‘35’Hm;" 0.76375 "R-"."?_3{?.1 T 55767
{Toat- - | | ¢ |Total=354844|
| =S23sHm’ | o -
Qas charges = 5548 44
Meter Rent = 20 0()

“Total =.5568.44

 G.STax (cj_‘;‘¢16%=71-0%x556&44 = Rs.890.95
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= Rs 265 00

C ost oi nexl 2()0 Umts @Rs 3 64 = 7()(} x3.64

LY _—Rs 728()0

~ Cost of rcmammg 1 3 Umts =15x6,15
R & =Rs.92.25

~ Total Cost of Electricity =Rs (265 +728+92. 25)

: L _-Rs]08528--—(‘) |

1.5 -

'Exlsedut 15‘7 =
L y(; T

X 1085 28

—-R£]6 28-—-(1:} .

o Electnclty duty Rs. 19 04 —--(m)

PTV fee =Rs.25.00--—(iv)"

: Jmc‘omeTax =Rs.27. 50‘-"—'—‘(v)

N

Exise duty @/.5% =

------

—Rs 1173 10 Ans
Number of Units=210

| Cost of first 100 Units @Rs.2.65 = IOOx 265
| | =Rs.265.00
- Cost of next 1 1 0 Unlts 11 0x 3 64 S

= Rs 400.4

Total C ost of Electrlclty Rs (265 +400. 4)

A ~Rs 665. 40---(1)

1.5 x66.54.
00

=Rs.9.98 (i)

o Electrlclty duty =Rs.79.04 ---(m)

 PTVfee=Rs.25.00—(iv)

- -

Income Tax =Rs.27.50 --f(v)
Adding i +ii+iii+iv+v
Total Bill= Rs.736.94 Ans,

T I
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-(m)

()

Cost of remalmng 75 Umts =75x%6. ! 5

- Ex1se duty @1-.5%

" Excise duty @1 5%

Number of Units consumed 375 Unifs

(,ost of first /00 Umts @Rs 2.65=100x2.65

o | '=Rs.265.00
. Cost of next 200 Units @Rs 3.64=200x3.64 |

=Rs.728.00

 =Rs.461.25

| Total Cost of Electricity= Rs./454. 25 (i)

L 5 x 1454. 25
00

_Rs.21.81 we(i)

| Electrmty duty = Rs 19.04 (i)
 PTV fee=Rs.25. 0()---(w)

Income Tax =Rs:27. 50---(_) |

- Addlng1+zz+zzz+zv+v |

Total Bill = Rs. 1547.55 Ans

| Umts consumed = 290 .
o Cost of first / 00 Umts @Rs 2. 65 1 00>< 2.65
" =Rs.265.00
- Cost of remammg 1 90 Umts 190x3.64

=Rs. 691. 6

| _'Total Cost of Electrlclty Rs 956.60 ---(i)

15 osé 60
00

=Rs./4.35 ---(n)

Electrlclty duty RS 19.04 ---( lll)

PTV fee Rs.25. 00 -—-(iv)

~Income Tax Rs.27.50 ---(v)

Addmg i+ii + i +iv+v
| =Rs.J] 042. 49 Ans
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Q.3- ln the followmg the number of calls made is gwen
- Complete the telephone bill inclyding the items;
~ Callrate Rs. 5 per call, CED @ 15%, W. H tax @ 4%.
M 530 G) 640 (i)

{iv) 270 - (v) (vz) 315, |
S‘olutmn- R
(i) Numbgr of Calls= 530
| ~Call charges@Rs5 PerCall. ~ *
| =530x5=Rs.2650
15

CED@15% = 76?2650 =Rs. 397 50

; WHTax@4% ;0x2.650 Rs]06

_Total amount Payable Rs.2650 +Rs. 397 50+ Rs. 1 06
| -Rs 3153 50 Ans
(i) Number of Calls 640 . -
g Call charges @ Rs.5 Per Call |

=640%5 = Rs.3200 L
CED @15% -—I—-5—->< 3200 Rs. 480 -

100 §

hd x3750= Rs.150.00
100

.’W H Tax @4%

Tota] amouﬁt Payable = Rs(3 75 0 +3 62 50+1 50 00)
) - . =Rs.4462.50 Ans |
(i) Number of Calls=750 -~ = =
~ Call charges @Rs.5 Per Call =750%5
' o -—Rs3750 ()

/5 '
3750
00>

CED @15% =

=Rs.562.50...(i))
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-T(iv)

W.H Tax @4%= ! 3750
‘ 100"

—-Rs 15000 -

L Total amount Payable = Rs (3750+ 562 50 + 150 0()}

o= Rs 4462.50 Ans

. Numberodells 270 . -
' Callcharges@ Rs. iPer Call -27()x5 Rs 1350

15

CEDQ]S% 1—65“350 Rs.202.50

W

(vi)

CED 15% =
| @ =70

W.H Tax @4% =
| j@ 100

W H Tax @ “7%5"”50 Rs.54.00"

. ’Total amount Payable = Rs.(/ 35() +202. 30+54. 00)

- =Rs. 1606 50 Ans
Numb’er of Calls 480
Call ch:grges @ Rs.5 Per Call :
- “480x5 Rs. 2400 -

]50x2400 Rs.360

4 x2400 Rs 96

~ Total amcum Payable Rs(2400+ 360+ 96)

N »-Rs 2836 Ans

',NumberofCalls 315 L
'_Callcha.rges@RSSPe(Call —-315x5 Rs]575

CED @]5% ——I-%j—o—x]575 Rs. 236 25

W.H Tax@4% - ];0 xI575=Rs.63.00

Total amount Payable = Rs (1575 + 236. 25+ 63)

=Rs. 1874 25 Ans

#
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 EXERCISES3 _
A lady worker works a six-day week. She starts

-work at 7.00 am and finishes at 4pm. She has 15
.mmutes break in the morning and 45 minutes
" break in the afternoon. How long does she actually
“work in a week and ‘how much she is pald if the
. rate of payment is Rs.40 per hour?

' 'Solutlon -

As she starts at 7. OO am and ends at 4.00 pm So
Daily workmg hours -9 hours

| - Daily break = / hour

o Daily hours to be paid for = §

- Weekly hours=6x8 =48 Ans

‘Paymeént @Rs.40 per hours = 48x 40 = Rs.] 920 Ans.

Q. 2 Khalld works 6 day-weeks Find his gross monthly

wage, if his rate of pay IS Rs 200 per day

"Solution:-

Weekly workmg days = 6 "
Monthly working days = 4 x 6 24 .

- Gross monthly wage @ Rs. 200 per day.

Qs

| Solut10n -

=245 % 200 =Rs. 4800 Ans.

Aslam gets pald Rs.70 per hour for his normal
working 8 hours daily (6 day week). The rate of
.over time is 1. 5 of Rs. 70 per hour. If he works 40
‘hours as ovemme, then work out hlS gross monthly pay .

" Daily working hours = 8

- Weekly working hours =6 x8 48

Monthly workmg hours = 4x48 =192 -

- Payment for normal work = I92x70 -Rs. 13440
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Over time of 40 hours @1.5x 70 per hour )

=] 5><70>< 40 =Rs.4200 '
| Gross monthly pay = Rs(l3440+4200} ,Rs ]7640 Ans.
- Q.4- Calculate the gross monthly pay of a person, if his -
' basic pay is Rs.18000, house rent allowances is
Rs, 3500, dearness allowances is Rs.3000,
~conveyance allowance lS RslSOO and medrcal
allowance is Rs 500

Solution:-
Gross monthly pay Basrc pay + House rent al]owance
"+ Denner allowance + Conveyance allowance

 + Medical allowance | -
= = Rs: {18000+ 3500+ 3000 + 1500+ 500) Rs 26500 Ans.
| ,Q.S_—' If gross pay of a person is Rs.45,000, then calculate
~_ his net take home salary, after deductions of
Rs:400 as income tax, Rs.1200 as benevolent fund,
Rs.1500 as G.P fund and Rs.400 as group lnsurance
_ Solutlon - : |
- Gross pay = - Rs. 45, 000

Deductrons = [hcome Tax + benevolent fund
G.P fund +Group instrance

'=Rs(400+1200+1500+400) =Rs.3500
- Net take home salary - Gross Pay Deduct1ons

= Rs (45000 - 3500). = Rs.41500 Ans

Q.6- Noman works in a factory where the basic hourly
a rate is Rs.50 for a 35 hour week. An over time is
. paid at tlme and - a-half. How much will he earn in

. a week when he works for:

() 38 hours (u). | 48_ hours (iii)_' . ‘Sﬂhours
~ Solution:- - S S

() Number of hours 38

E - Basic hourly rate for 35 hours = RS 50 per hour o
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| Payment for 35 hours 35 X 5 0

=Rs.1750

| Payment for 3 hours 1.3x50x3

=Rs.225

- (JI'OSS Payment = Rs {1750+ 225)

(i)

i

. =Rs.1975 Ans.

| Number of hours =48
| Payment for 35 hours = 35 50

_ "’RS]750

Payment for 13 hours=[. 5x50x13

,—Rs 975 N

.(:ross Payment =Rs/(1 750 + 975)

_ —Rs 2725 Ans

| Number of hours 50
i Payment for 35 hours = 35 x50

o = -—Rsl750

a ‘Paymentfor15hours 15x15x50

t_«.,

=~ =Rs. 1125

| Gross Payment Rs(] 750 4+ 11 25)

: Qtz-

= Rs 2875 Ans
Abdullah‘s pay slip showed that he had worked 6_
hours over time in addmon to his ba'sm 36 hours

week. If his basic rate of pay is Rs. 60 and over time -
is paid at time and a-half. Fmd his gross pay for -
the month e

Solutlon -

. Payment for 36 hours 36x60 =Rs.2160
~ Payment for 6 hours = 1.5x60x6 =Rs.540 -,

Gross Pay for the week = Rs.(2160 + 540) R_s.' 2700 |
Gross Pay for the month =4 x 2700

= Rs { 0800 Ans
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Q.-
(i)

Review Exercise-5
Enclrcle the correct answer. : ' \

Money that must be paid to the state charged as .

proportlon of i mcome and profit added»to cost of some '-

- goods and services is called a

- (a) tax (b excise

i

(iii) |

(c) property tax ' (d)  income tax
The taxes ‘which are charged on income, pmperty and :
proﬁts in the from of income tax, property tax and
profits etc is called B
(@  tax. N b o (b)" - direct tax

- called |

(e property tax o d income tax
Taxes of the form of duttes motor vehlcle taxes are'
(@ indirecttax  (B) direct tax -
(c)  propertytax - (d)  incometax
The tax in addition to the price of the article is called
(@ tax . ) | salestax
(c)  income tax d exc1se duty .

The form of a tax which the buyer pays on a

o manufactured item at the time of purchase is called

(vi)

(@) excise duty, © () tax.
- (c) . income tax (,d) Sale's tax |
~ The tax charged on the owner of a land, house flats or |
building is called - | — T
(@ property tax ~ (B) income tax
() direct tax @ mdlrect tax

iy

The tax charged on all the taxable income is called

(@) sales tax ()  direct tax

o () mcome tax (@ exci_sc duty
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Ans:

0@ | we ] @ | o
) (@  (vi) (a) | ’(w'u © |

C )

i)

@

Q.2- Filli m the blanks .
i " Moneéy that must be paid to the state charged asa
| "propomon of income and profits added to the cost of *
- some goods and setvices is called a |
(i) The taxes which are charged on mcome property and
| ‘profits in the form of income tax, property tax and -
. profitetcis called a__ - |
- (iii) ‘Taxes of the form of duties. motor vehicle taxes .
-~ goods and services are called____ |
- The tax in addmon to the prrce of the article is called -‘
 as_ | o A
| v) The form of ataxwhlch the buyer payorna. manufactured |
~ item at the time of purchase is called . ;
- vi) The tax charged on the ownerof a Iand house, flats or
~ buildingiscalleda__, - < '
The tax charged on all taxable income is called_;_ a
| (v'ii:) If the annual value of a flat is Rs. 6 00, 000 Then the |
. tax payable atarateof 15%is___ '
The value added tax at the rate of 1 0"/ at the marked.
R “price of televrslon of Rs 12000is._ . _
(x) The excise duty at rate of 150%, one has to pay agamst |
" an amount of Rs.3,00,000is___ | |
Ans: 7 - | - , : .
0, (zax) o (‘n) (Direct tax) (iii)'\ (Indirect tax)

(iv) (Sales tax) (v).(Excise duty) * | (vi) (Property tax)

(vii) (Income tax) | (viii) (Rs.90,000) |(ix) Rs.(1200) "

| Rs. (430,000
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Q.3-. The price of a trlcycle is Rs. 4000 If 16% sales tax
s charged then calculate the amount of sales tax

on 30 such trlcvcles

" | Solution:-
) * Price of one trlcycle Rs.4000:

- Sales Tax on one trlcyc‘l-e :j_é_x 4'0000_‘- - |
o 700" R
' S =Rs.640

_‘Sales Tax on 3 0 trlcycles Rs(640x% 30)
o | |’ . =Rs.]9200 Ans.
Q.4- If the total income of a person is Rs.7,00, 000 with
\ exempted ameunt of Rs.1,50, 000 Find the tax
chargeable @ 4.5%. |

' Solutlon - -

| Total Income = Rs 7, 00 ()00 ,

Exempat amount = Rs./, 50, 000

Taxable mcomc Rs( 7,00,000 - 1, 50, 000)
) = Rs 5,50,000

4. 5%-i~§-x5 50000
100+

Tax Chargeabl'e
| - =Rs.24750 Ans |
- Q.5- The gas meter shows that 5.670 Hm’ gas was used
- during a month period. Workout the payable -
. . - amount mclusnvé GST @16% R -
Solutlon - SN
| Meter readmg 5 670Hm
R We Know / Hm’ =3, 25 MMBT U(nearly)
- So Meter readmg 5.670Hm’
=5 670x3.25 MMBTU
—184275MMBTU

Now con31der the table.
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 Hm’ MMBTU|Rate = - - | Price(Rs)

Rupee/MMBTU | MMBTU x Rate

First:5 Hm’  |0.5%3.25| Rs.80.65 | 1.625x80.65 |

R o {=1625 . =i31.06
Next0.5Hm’ | 1.625 | Rs8445 |  137.23
NextZ.0Hm' | 325 | Rs.05373 | 49962
A Next7.0Hm® | 325 | Rs32548 | 1057.81 |
NextZ0Hm® | 325 | Rs42342 | 137612 |
NextLOHm® | 3.25 | Rs.55044 | 178893
Next() 670Hm’ | 21775 Rs.730.17 | 1589.95 |
Total - | | Totat = 658072 |
- =5.670 Hm’ .

- QGas charges = Rs 6580 7y

M_eter Rent = 20.00
Total = Rs.6600. 75
16

" G.S.Tax@ [6% = 7-(35><6600 75 =Rs. 1056 12

 Total amount of Bill = (6600. 75L+ 1056, 12

. =Rs.7656.87 A
© Q6 The number of unlts codsumed whlle usmg' :
B electrlclty is as under | o
(i) 275 units (u) 200 umts |
(iii} © 340 units - (iv) 285 units. |
Complete the electriclty bills, in¢cluding the 1tems
as well as shown, in the solved example of -
electrlclty bl“ n |
B Solutlon - | :
(i) -~ Units consumed 275

Cost of first 1 00 Units @Rs 2. 65 1 00 x 2,65
* o =R, 265 00-

l“
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Cost of 175 Umts =. 175><3 64
L =Rs.637 | \
| Total Cost of 275 Umts =Rs (265 + 63 7)

: —-Rs 902...(i)

I 15
- Excisedu w1.5%= ><9()2 -
o y @. = 100

- S | -Rs 13.530.. (lt)
Electricity duty = Rs./9.04 _(iii) |
PTVfee=Rs.25.00..(v) . - - %
~ “Income Tax =“Rs.27.50....(v) o
. Addingi+ii+iii+ivey
Total Bill= -Rs.(835. 07+902)
- =Rs.987.07 Ans, -
(i) Number of Umts =200 |
~ Costof ﬁrst] 00 Umts @Rs 2.65= 100><2 65

S '-R526500'
- Cost of remammg 100 Umts 100 % 3.64.

© =Rs.364 : :
_ Total Cost of 200 Units =Rs (364 + 265) Rs 629 (1)

: I 5
| Exc se dut al. S‘V = 629
o R yC "~T00”

. = Rs 9.44 . (11)
‘ I:lectnclty duty Rs.19.04 . . (iii)
PTV fee=Rs.25.00...(iv) -
Income Tax =Rs.27.50..(v) = |
! Addlngl+u+m+1v+v | o e
 Total Bill=Rs.7/0 Ans. R |
- (i) v»Number of Units =340 L | ,
~ Costof first 00 Units @Rs2 65 = 100><2 65 -
- - - | _Rs26500_‘ o
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Cost ot 2(}() Units = 200 x 3 64
‘ = =Rs.728
- Cost of 40 Umts =40x6.15
 =Rs.246. 00
~ Total Cost =Rs. (265 ¥ 728 + 246)

= Rs 1239
Ex01seduty @1.5%=}—05xx71239 |
| | =Rs.1859
~ Electricity duty =Rs.J9.04
. 'PTVfee=Rs.25.00
o IncomeTax Rs, 2750 | '
-~ Total Bill =Rs.(1239+ 18, 59+1904+25 00+22. 50)
L “Rs.1329 Ans. . |
(fv) ~ Number of UmtS'-— 285
L ‘Cost of first 100 Units @R3265 100x2 65
, \ _ =Rs.265. 00
Cost of_ 185 Units=185x3.64 -
R . =Rs.6734
Cost of 285 Units = Rs. (265+673 49
© . . =Rs9384
N Exigeduty @1 5%‘——1—5—x9384
100

| . =Rs.14:08 -
| “Electrlcny duty Rs.19. 04 \ :
'PTV fee =Rs: 25 00 | ‘
| -lucome Tax'=Rs.2 7 50 :
=T oldl Bll]—Rs (938. 4+ 14 08+19 04+25 00+27 50)

s *Rs 1024 Ans.
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The gross monthly pay of a person is Rs.75 000 If

Rs.1500, Rs.1200 and Rs. 1800 are deducted as
‘income tax, henevolent find and G.P fund

respectlvely, and then calculate the net take home
salary of the person - \

901ut10n -

,- "(i) .

)

Gross monthly pay = Rs’ 75000
Deductions = Rs(! 500+1 2()() +/ 8()())

=Rs. 4500
Take home salary = Rs.( 75,000 - 45{)0)

| -Rs 70500 Ans
MULTIPLE CHOICE QUESTIONS

Tick the best choice.
- In Paklstan raté of sales fax i is |
@ 15% . () 16%
© % 18%

The rate of.ex'cise»duty‘is. o

(@), 50% . "‘-'(b)’ 100% “

') Fixedevery year

: (iii)

)

(d leTerent for different 1tems

Excise duty on domestlc electr1c1ty bll] Is o

@ 1% (B 150%
©  2.00% d-  2.50%
: The cost of telephone call depends upon
() Length of call | ’
(b) -+ Time of day and day of week |

- () The distance between caller and that bemg called |

@ Allof these
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‘The annual value. of a ﬂat is Rs. 1 60 000. lhe tax at a
rate of 13% is §

@ CRs8000 (B s 16000

('vi) '

(vﬁ)

(c) Rs24, 000 (@ - Rs.25.000-
150% excise duty agamsl the amount of 4,00, 000 is
(@ Rs.4,00.000 (b) Rs.5,00,000
(c) -~ Rs.600000 (d)  Rs.7 00,000

10% value added tax on the Price of Rs. }5,000, of an
artlcle is | T
@ Rs1400 (b fRsé"]500 |

(& Rsl600 (d)  Rs.1700
R * MODEL CLASS TEST
Time : One Hour N Max Marks 25

Note:- Attempt any tour of the followmg question. (5x 4)

Q.1-

- Q2-

Q3

Q4

-'Q;S

- f

week"

750 Calls are made on a_ telephone. Complete
‘telephone bill mcludmg the items..

(a) Call rate Rs.5 per call, CED @15% and W H
Tax @4%. | :

The Price of a bicycle is Rs. 3500 If 16% sales tax is
charged, then _calculat_e the amqunt of sales tax on
50 bicycles. :

If annual income of a Person is Rs 6, 25 000 Find _
" the income tax @ 4.5% if Rs.1,50,000 is. exempted.
The Price of a Car is Rs.5,00,000, 150% excise duty . -

 has also-been paid. How much had to be Paid to -

Purchase this car. : |
Noman works 48 hours a week. The basic hourly
“rate is Rs.50 for 35 hours weekly Overtime i is paid
at time and a half. How much does he earn in the



